HP – QUADRATIC EXPLORATIONS UNIT  2C
            FUNCTIONS & GRAPHS
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The screen shows a quadratic function expressed in Turning Point form.
                                 Y = a(x + h)2 + v

 The function graphed is:   Y = (x-6)2 – 2


The arrows                                                   transform the function.

The general form of the function  Y = ax2 + bx + c ,  is also given.

                                          Y = x2 -12x + 34
The discriminant ( more about his later),  is also given DISCR = 8 

The roots ( x intercepts) are the last entry.
1. Consider the function Y = - (x-3)2-2, is transformed to Y= - (x+2)2-1
Explain how the arrow keys were used to achieve this change.
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2. Consider the function Y =  (x+3)2+2, it  is transformed to Y= - (x-3)2+2

a)  Explain how the arrow keys were used to achieve this change.

b) What are the turning points of the two functions?
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3. The function:Y = ( x – 5)2 + 8  is to be written in the general form Y = ax2 + bx + c.

   What are the values of a, b and c? Explain how you got these answers.

4.  The function:Y = x2 + 8x + 20 is to be written in turning point form. 

                 Y = a(X+h)2 + v

What are the values of a, h and v? Explain how you got these answers.

5. The function Y = 2(X-3)2+ 3 is transformed to  Y = 
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(X-3)2+ 3
 a)  Use your calculator to help you list the changes that have occurred to the original function.
b) Sketch both functions on the axis below.
6. A parabola  has a turning point of  ( 2,5) and a y intercept of (0,9).
   Write the equation in:

a) Turning point form.

b) General form.

The quadratic formula is :   

Where   y = ax2 + bx + c
The discriminant is the “bit” inside the bracket i.e. 
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 6. Consider the three functions shown below
              a                             b                                 c
[image: image9.png]


         [image: image10.png]P




          [image: image11.png]



a) Show that the answers given for the discriminant for each graph is correct.

b)  Look at the graphs below (and any of the functions before), what is the relationship between the disriminant and the roots of the function?
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